
M4/I            Lösung zum Übungsblatt für die 2. S chularbeit 

1) Lösung zu 8G3.01-E / 001-e 
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4) Lösung zu 8G3.01-E / 012-m 
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5) Lösung zu 8G3.01-E / 021-m 
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6) Lösung zu 8G3.01-E / 023-m 
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7) Lösung zu 8G3.03-E / 019-e 
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8) Lösung zu 8G3.03-E / 034-m 
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9) Lösung zu 8G2.01-E / 001-s 
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10) Lösung zu 8G2.01-E / 019-s 
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11) Lösung zu 8G2.02-E / 002-s 
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12) Lösung zu 8G2.02-E / 023-s 
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13) Lösung zu 8A2.02-E / 006-e 
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14) Lösung zu 8A2.02-E / 024-s 
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15) Lösung zu 8A2.11-E / 002-e 
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16) Lösung zu 8A2.11-E / 014-m 
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17) Lösung zu 8A2.11-E / 023-s 
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18) Lösung zu 8A2.11-E / 029-s 
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19) Lösung zu 8A2.11-E / 028-s 

 
 x xy xy y y

x y
² ² ²

² ²
+ − + −

− =2
1 

 

20) Lösung zu 8A2.12-E / 001-e 
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21) Lösung zu 8A2.12-E / 004-e 
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22) Lösung zu 8A2.12-E / 005-e 
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23) Lösung zu 8A2.12-E / 014-m 
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24) Lösung zu 8A2.12-E / 025-s 
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25) Lösung zu 8A2.12-E / 027-s 
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26) Lösung zu 8A2.12-E / 028-s 
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27) Lösung zu 8A2.13-E / 014-m 
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